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CBSE Class 9 Maths Sample Paper SA 2

fymran 3fah : 90
SUBJECT: MATHEMATICS Maxi Marks : 90
aximum Marks :
CLASS : IX
fuifa v 3 gue
Time allowed : 3 hours

e e

(i) gt 9 Iifard 21

(i) SAYHATAHE3ITAE % do@usian, &, |, T a1 q § 92 T 71 @Us-31 § 4 ¥
g S 9% 1 3feh &1 8, WUS-a H 6 ¥ ¢ 0 Tcish & 2 3ich ¢, @WUS-A A § U ©
5 9 % 3 3iek €, @Wue-g H 10 W9 & 58 YF & 4 37k € au1 @ug-T | qeh UIS
TR i 3-3 3fehl 2 WY qUT4 SR H11 I

(i)  TE U UAH FE o THy foeheq Tl €

(iv)  Shorgpore i WENT afsid 71

General Instructions :

(1) All questions are compulsory.

(ii) The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(iii)  There is no overall choice.
(iv)  Use of calculator is not permitted.

EUeS-31 / SECTION-A

YHESAT 19 HYdE hl HAh 2
4 1

1 3Mpfa ®, OAB UF THaTg B9 ¥ 1 afg O 99 &1 &= T, d LACB &l HIY F1d FHIfoIT | 1

C

In the figure, OAB is an equilateral triangle. If O is the centre of the circle, find the measure of
ZACB.
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VY,

B

Ife T S St 51 i 27en SR S i AT R A1 S, o 9T ST 9 i | 1

In a cylinder, if radius is halved and height is doubled, then find its volume.

i faenfefai i arem o1 28 9 €1 Afg ST o7 1 UM 2:3: 2 7, A SAH! Ag I KWl 1

The mean age of three students is 28 years. If the ratio of their agesis 2:3 :2, find their ages.

frefafad stiwel &1 agas T Fife : 1
14, 25,14, 28,18, 17, 18, 14, 23, 22, 14, 18.

Find out the mode from the following data :

14, 25,14, 28,18, 17, 18, 14, 23, 22, 14, 18.

Eus-d / SECTION-B

9 &A1 59 10 H T & 2 37F B

Question numbers 5 to 10 carry two marks each.

AABC T& GHaTE 19 €1 ofoiedil BC 3iR AB % #ea-fig 9w: D R E¥ 1 afg BC=4em §, @1 2

ar (ABED) F1d &IfST |
A

B D &
AABC is an equilateral triangle. D and E are mid-points of sides BC and AB respectively. If
BC= 4cm, find ar (ABED).

A

B D c
TR TUT WHR o YA H, 45° & 0] i &A1 Hifod | 2

Construct an angle of 45°, using compass and ruler.
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7 3Tfa #, ABCD U& 2774 €, /s Z,DBC=58°%1 /BAC ! HIY A HITST | 2
D c
o
58°
A B
In the figure, ABCD is a rectangle with ZDBC=58°. Find the measure of ZBAC.
D c
o
58°
A B
8 12 m 39 31 AHS & IF F SMER I IR 44 m &, T TR 3T F1d RIS | 2

The circumference of the base of a 12 m high wooden solid cone is 44 m. Find the volume.

9 & fesat o, 50 dliee 2R 150 72 €1 fesd i 9" &3 W, 9% 719 ge & 31 dieei 3 o) 78 | 2
ST ol g2 €1 Afe 39 9 Uk 9% Agfesd ®Y ¥ I ST €, 9 Skt Wigehdl A1 hifere fo g
ST @t B |
A box contains 50 bolts and 150 nuts. On checking the box, it was found that half of the bolts
and half of the nuts are rusted. If one item is chosen at random, find the probability that it is

rusted.
10 3 fgaRi 1 T WY 250 IR 3BT =11 9 1 IHOMH 39 YHR © : 2
T2l i TE&AT 0 1 2 3
ElR=in 45 |65 |52 |88
TifaeRar I hifae fh

() At & sifees 2 faa e 2
(i) |t o @ &

Three coins are tossed simultaneously 250 times with the following frequencies of different

outcomes :
Number of tails 0 1 2 3
Frequency 45 65 52 88

Compute the probability of getting :
(1) At most 2 heads
(ii) All heads

Eus-H / SECTION-C

Y G 11 Y 18 H UIF F 33F ¢ |

Question numbers 11 to 18 carry three marks each.
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12

13

14

15

16

=1 siihel 1 A1 iR WA A Hife 3

1.3,2.1,1.8,23,22,1.5.
Find the median and mean of the given data :
1.3,2.1,1.8,23,22,15.

Tl it T e | T 1 g SAfSiq 37 39 ThR © ¢ 3
17,2,7,25,25,5,14,18,10, 24,10, 8,7, 10

21 TSl & foy mres, Hremeh iR agetsh 91 Hife |

The points scored by a team in a series of matches are as follows :

17,2,7,25,25,5,14, 18,10, 24,10, 8,7, 10

Find mean, median and mode for the data.

ADEF ¥ EF &1 7e-faig P 3R DP &1 994-fig Q €1 AfS ar (ADQF) =6 cm? &, I ar (AEQF) ¥1d 3

HIfSTT |
D

E P F

In ADEF, P is mid - point of EF and Q is mid - point of DP. If ar (ADQF)=6cm?, find ar
(AEQF).

Q
E P F
fag FifSe fo T =hig FHiR =qds T Tod 2 3

Prove that a cyclic parallelogram is a rectangle.

T T3 St T HifSTY, et <1 e 1: 3 % 3K B 30 YR & fh I 3R 6 cm T 6 3
& T 191 120° B |

Construct a triangle whose two sides are in the ratio 1 : 3 such that their difference is 6 cm and
angle between them is 120°.

ABCD T& IR 9g4<t €, f599 /D &1 wufga=iss AB #I P W gAfgenfSia &xar 81 quiize fF 3
CD=2AD |
ABCD is a parallelogram in which the bisector of ZD bisects AB at P. Show that CD =2AD.
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17 f3yst ABC 1 To 1 Fifrg, fS/ed BC=4.5 cm, #B = 45° 3R AB—AC=25cm &1 T & U5 ot 3
fafaw

Construct a triangle ABC in which BC=4.5 cm, /B = 45° and AB—AC=2.5 cm. Write steps
of construction.

18 T ¥F H g% TRIF AFARA 12320 M cm ¥ AfE SMER F 51 56 cm &, @ 39FT SO I 3
HIfST |

The curved surface area of a cone is 12320 sq cm. if the radius of its base is 56 cm, find its
height.

Eue-g / SECTION-D

9 &A1 19 9 28 H GF F 4 37F ¢ |

Question numbers 19 to 28 carry four marks each.

19 9 F= 9 98 g1 ™ 6 s qwe | 3% fohad we el % U 9@ | 9| Ui 36 YRR § 4

1,6,2,3,5,12,5,8,4,8,

10,3,4,12,2,8,15,1,17,6,

3,2,8,596,8,7 14,12

it e 5 A SR UH o AU Bl 5-10 AR 37 SAhS] hi Teh avfihd SRR s RO

FARY | A o ot Sifaw)
forae s=di 4 F@E | 15 ¥ ¥ FH 2dl <@ ?

Thirty children were asked about the number of hours they watched TV programs in the
previous week. The results were found as follows :

1,6,2,3,512,5,8,4,8,

10,3,4,12,2,8,15,1,17, 6,

3,2,8,596,8,7,14,12

Make a grouped trequency distribution table for this data, taking class width 5 and one of the
class intervals as 5-10. Also draw histogram.

(ii) How many children watched television for 15 or more hours a week ?

20 fod # MNOP Uk wA® =gdss femmn mn 1 MO W wE fig X @1 4
RQ || MN iR BS || PM &1 18T o ar(PSXR) =ar(BNQX) |

P S O
K L
M B N

MNOP is a parallelogram as shown in figure. X is any point on MO. RQ|[MN and BS|[PM.
Show that ar(PSXR) = ar(BNQX).
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O, B, D 3R C T TH=qys & ¥4 € 91 A, B, D 3R C &= O dlct gd R feod €, S i empfa & 4

AT T § 1 £/BOC, ZOBC, /BAC 3R /BDC J1d whifSu |
A

BWC
D
O, B, D and C are the vertices of a thombus and A, B, D and C lie on the circle with centre O,

as shown in the figure. Find ZBOC, ZOBC, ZBAC and ZBDC.
A

BWC
D

APQR &1 TAT SifSTT, ST&feh £Q=90°, PR—PQ=3.1cm 3iRPQ=4.5cm ¥ | 4
Construct a APQR, ZQ=90°, PR—PQ=3.1cm and PQ=4.5cm.

ABCD T& HHad 8, fS/H AB||CD, AB=15cm 3¥IRCD=10cm g1 X 451 AD &I #eA-fag 31X 4
Y T, AB & HHIX XY Wil T §, N BCH Y W fHerdt 81 XY Fl @ d shifaq |

ABCD is a trapezium with AB||CD, AB=15 cm and CD=10 cm. X is the mid — point of the
side AD. Through X, XY is drawn parallel to AB to meet BC at Y. Find the length of XY.

e faenerd o foenfei 3 T quae faYr i STeesR 9eatd @l 9 R a9 3=t o @ 4

v oo | erefmiieeR emepfa =1 31X & faenfeldi 3 et 1 | ST &F%heT 249.48 71 WX T

(a) 39 MR STpfda H 9 k1 @G WA Hifew| A Ghd w1 @
% 2 9fdq o Hiex &t <X A 2, @ TSI Y AR 1 hifoT |

(b)  faenfei grr &= @ Ho e T ? (w=27—2$rw‘maﬁﬁ11)

To maintain beauty of a monument, the students of the school cleaned and painted the dome of the
monument. The monument is in the form of a hemisphere. From inside, it was white washed by the
students whose area is 249.48 m?.

(a) Find the volume of the air inside the dome. If white washing costs
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T 2 per m?, how much does it costs.

(b) Which value is depicted by the students ? (Use w= % )

25 Teh 4 cm YT ATl B4 1 1R 1 cm 9T ATl B4 S T 39 ThR o4 DI BT 61 G901 519 4
SA%E T hITSIC | 9 ¥ 3R BIe A1 & WYVl Y &=hall b1 AT F1d BT |

A 4 cm edge cube is cut into small cubes each of edge 1 cm. Calculate the total surface area of
small cubes. Also find the ratio of total surface area of large cube to that of the small cubes.

26 T A1 & 10.5 m S 2R 3 m ST 916l Tk IF & AHR H1 ¢ | THHN SAFGH A1 Hifog| g1 4
m3 g 1 HIHAT 10 &, A TYUT HI9d F0q HIC | X h1 (RSt S off 7 Fifsre |

A heap of wheat is in the form of a cone whose diameter is 10.5 m and height is
3 m. Find its volume. If cost of 1 m3 wheat is ¥ 10 then find total cost. Also find slant height of
heap.

27 Teh S 1 o5k T5S &5hal 154 cm? &1 e b1 YUl JS1T &5, dsh I3t &kl 1 i g1 4
ST 1 ST 1 hITAT |

The curved surface area of a cylinder is 154 cm?. The total surface area of the cylinder is three
times its curved surface area. Find the volume of the cylinder.

28 um DR W W, gae U M o fafa=1 sreEri i w grn A gwiter e @ 4
17
R i B

Washdl Fa WY o Jg=san o1 T IRaR fegwm 2Er qen SoHHad 2ew SHI ol 2
In a small town, the types of newspapers distributed in the morning are given below in the

graph :
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ONomic.

Find the probability that the family chosen at random is taking both Hindustan times and
Economic times

@us-q [ SECTION-E

(& 91&/Open Text)
(*suan giifvaa # o % Sydea fava &1 qad TgFamIt 39 IvI9S & 919 G ?)

(* Please ensure that open text of the given theme is supplied with this question paper.)
fasar : WA # SredreEn ¥ wied
Theme : Childhood Obesity in India

29 e faemera 3 |t faenfadi @1 BMI = a9 2R 359 91 gen f 9= 4oft & a=ai &1 gemn, 3
31fersh ST ATt ral i STUET TS U €1 e <1 =R aTen sk gete fafen fras amr gof
1 x AT 3TF IS o1l <l y AT | TR SAer@ i Eifaa |

A school made BMI chart of all the students and found that number of students who lie in
normal range are eight times the number of students who lie in overweight category. Write a
linear equation in two variables taking normal range as x and overweight as y. Also draw the

graph.

30 g @R T 1 wefedi 7 freea fean fo 3 ufafeq adhemee (wRifte aframd) G foo@ fe a3
uidan e @1 fig 3 wfafes 1 ser wermn v & 3 wfafed 60 firme e &1 frvem fham g
red § €t T SR & TN Y 39 % gRI STt T ARl sl qiehfad et 2R 396 1&g ey
%1 sk THE gR1 Yeiia ifsg |

Ritu and Reema two friends decide to work out regularly to stay fit. Ritu decides to walk for
1 hour every day and Reema decides to run for about 60 minutes every day. Use the given
information from the open text to calculate the amount of calories burnt by both of them every
day and establish a relation between them in the form of a linear equation.

31 I% FEl T © fF W e @M 9, URrfie R IS H ST 47% Afus e Wi S g1 4
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(@)  wifE f wRd IsE R TR Fer x € SR W T gW y €, T as wHie sy
Sil for ST o HeA Hely wefud |

(b) 39 THIHIOT I @ GRI e¥id Hifery |

(c) o 39 T gR Wi Y@ o forg & Terdt 872

It is stated that by eating fast food one ends up taking 47% more calories than traditional

Indian food.

(a) Assuming the calorie intake by Indian food to be x and fast food to be y, frame a linear
equation establishing a linear equation between the two.

(b) Represent the above equation graphically.

(c) Does the line represented by the above equation pass through

origin ?
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